POLYNOMIAL Review

Section 3.1 Extra Practice

1. For each polynomial function, state the degree. If the
function is not a polynomial, explain why.

a) h()c):S—l b) y =4x?~3x + 8
X
¢) g(x) =9 d f(x)=Yx

2. What is the leading coefficient and constant term of
each polynomial function?

a) f(x)=-x+2x+3 b) y=5+9x*
©) g(x)=3x*+3x-2x+1 d) k(x)=9~-3x—2x?

3. State whether the polynomial function is odd or even.
Then, state whether the function has a maximum value,
a minimum value, or neither.

a) g)=-x*+8x?+7x~1 b) f(X)=x'+x>-x+10
) p()=-2X+5-11x d) h(x)=-3x>—6x-2

4. State the number of real x-intercepts, domain, and
range for each polynomial function.
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d) —2x%(x + 3)(x + 5)(x ~- 7)

5. State the possible number of x-intercepts and the value of

the y-intercept for each polynomial function.

a) fix}=—3+2x+3 b) y=5+9x*
c) gix)=3x*+3x*-2x+1 d) k(x)=-3x—2x?

. Identify the following characteristics for each polynomial

function:

» the type of function and whether it is of even or odd
degree

« the end behaviour of the graph of the function

* the number of possible x-intercepts

* whether the function will have a max or min value

e the y-intercept

a) g() =" +22+7x-5 b) f(x)=2x"+7x+ 12

. Given the polynomial y=-2(x + 1)(x — 2)(x — 3),

determine the following without graphing.

a) Describe the end behaviour of the graph

b) Determine the possible number of x-intercepts
¢) Determine the y-intercept of the function.

d) Sketch the graph.

. Identify each function as quadratic, cubic, quartic, or

quintic.

b) £(x)=2x5+7x + 12
d) k(x)=9 - 3x-2x

a) y=—x*+2x*+ x5
¢) g(x)=-x>+2x+3

9. The height, h, in metres, above the ground of an object
dropped from a height of 60 m is related to the length of
time, t, in seconds, that the object has been falling. The
formula is h = —4.9t* + 60.

a) What is the degree of this function?

b) What are the leading coefficient and constant of this
function? What does the constant represent?

¢) What are the restrictions on the domain of the
function? Explain why you selected those restrictions.

d) Describe the end behaviour of the graph of this
function.

10. Using the formula in #9, determine how long an object

will take to hit the ground if it is dropped from a height of
60 m. Write your answer to the nearest tenth of a second.

Section 3.2 Extra Practice
1.Use long division to divide x*> — x — 15 by x — 4.

. P(x) _ R
a) Express the result in the form = O(x) + —

b) Identify any restrictions on the variable.

¢) Write the corresponding statement that can be used
to check the division.

d) Verify your answer.



2. Divide the polynomial P(x) = x* — 3x> + 2x% + 55x — 11
by x + 3.

R
x—-a

a) Express the result in the form % =0(x)+

b) identify any restrictions on the variable.

¢) Verify your answer.

3. Determine each quotient using long division.
2x° ~10x> ~15x - 20
x+5
c) 2wt +3wP - 5w + 2w —27) + (w+3)

a)(3x2-13x-2)+(x—4) b)

4.Determine each remainder using long division.
a) (B3w? - 5w?+2w—27) =+ (w-5)
2x* —8x” —5x-2

b) c) (3x*—13x—2) + (x+ 2)
x+1

5.Determine each quotient using synthetic division.
a) (4w + 3w — 7w? + 2w — 1) = (w + 2)
x'+2x’ —8x% —5x-2

b) 5 c) (54 +2y°~y+4)=(y+1)

6. Determine each remainder using synthetic division.
a) (3x* - 16x+5) = (x—5)
b) (2x* — 3x* — 5x% + 6x — 1) + (x + 3)
c) (43 +5x*—7)+(x—2)
7.Use the remainder theorem to determine the remainder
when each polynomial is divided by x + 2.
a)-4x* - 3x3+2x* —x+5

b) 7x° + 5x* + 23x* + 8 c)8x’-1

8. Determine the remainder resulting from each division.
a) (33 -4x* +6x—9)+ (x+1)
b) (3x* —8x+4) + (x—2) c)(6x*~5x~7x+9)+ (x+5)
9. For (2x* + 5x* — kx +9) = (x+ 3), determine the value of &
if the remainder is 6.

10. When 4x* — 8x — 20 is divided by x + k, the remainder is
12. Determine the value(s) of k.

Section 3.3 Extra Practice

1. What is the corresponding binomial factor of a
polynomial P(x) given the value of the zero?

a)P(6)=0 b)P-7)=0 ¢c)P2)=0 d)yP-5=0
2. Determine whether x — 1 is a factor of each

polynomial.

a) 4x* -3 +2x* = x+5 b) 7x* + 5x* + 23x* + 8

) 2x* =3 - 5x2+6x—1 d)2x*+5x* -7

3.

2

State whether each polynomial has x + 2 as a factor.

a) 3 +2x?+10x+5 b)5x*+6x-8

) 2x* — 3x% - 5x d)3x* - 12x-2

What are the possible integral zeros of each polynomial?
a) Pn)=n*-2n* - 5n+12

b) P(p)=p*-3p* —p*+Tp—6

) P(z)=z+42 + 32 + 8225
d)PH)=y"—11)-2» + 2y + 10

. The factors of a polynomial are x + 3,x — 4, and x + 1.

Describe how the zeros of the polynomial expression
could be used to determine the zeros of the corresponding
function.

6.Factor completely.

10.

a) x>+ 2x2 - 13x+ 10
) % — X2 — 26x — 24

b) x* — 7x* + 3x2 + 63x — 108
d) x* — 26x% + 25

. Factor completely.

a) x> +x>-16x-16
o) K+ 68— Tk— 60

b) x* — 2x*>— 6x— 8
d)x*-27x+ 10
a) x* 4+ 4x* — Tx?—34x - 24
b) x° +3x* — 5 — 152+ 4x + 12

Factor completely.

Determine the value(s) of & so that the binomial is a factor
of the polynomial.

a)x?—8x—-20,x+k by x*-3x-kx-7

Each polynomial has a factor of x — 3.
What is the value of & in each case?

a) k- 102 +2x+3 b)dx*-3x* - 2%+ kx -9

Section 3.4 Extra Practice

1.Solve. a) (x+5)x+2)x—3)x-6)=0 b)x*—27=0

)GBx+ Dx-Hx—-7=0 d)yx(x+4)P>x+2\=0

2.For this graph, identify the following:

K EEE.
2 [[ a) the zeros
Il b) the intervals where
~| the function is positive
W/ 2 *| c)the intervals where
/ N /5 the function is negative
/ =N
Y Y




3.For the graph of this polynomial function, determine

' A a) the least possible
\ 4 degree
B _| b) the sign of the leading
a0 N\ o x| coefficient
\ 4 c) the x-intercepts and
the factors of the function
8 d) the intervals where the
\ function is positive and
A\ the intervals where it is
Yy negative

4.The graph of y = x* is transformed to obtain the graph of
¥ ==2(4(x + 1))’ — 5. Copy and complete the table.

(-2,-8)

-1,-1
(0, 0)
a1, 1)
2,8)

5.The graph of y = x* is transformed to obtain the graph of

4
y= %(%(x - 9)) + 3. Copy and complete the table.

(~2, —16)
('_11 1)
(0,0)
(1,1)
(2, 16)

6. For the graph of this polynomial function, determine
the following:

& a)the least possible
/N degree
~r \ +——%|  b)the sign of the leading
A\ coefficient
c)the x-intercepts and the

factors of the function
d)the intervals where the
function is positive and
the intervals where it is
negative

3

7.Without using a graphing calculator, determine the
following for y = x* + 4x? — x — 4:
a) the zeros of the function
b) the degree and end behaviour of the function
c¢) the y-intercept
d) the intervals where the function is positive and the
intervals where it is negative
8. Sketch a graph of each function without using
technology. Label all intercepts.
a) y=x>—4x* - 5x b) f(x)=-x*+19x*+6x—72

c) g(x) =x° — 14x* + 69x° — 140x% + 100x

9. Determine the equation with least degree for each

polynomial function.

a) a cubic function with zeros 3 (multiplicity 2) and -1,
and y-intercept = 18

b) a quintic function with zeros -2 (multiplicity 3) and 4
(multiplicity 2), and y-intercept = -32

¢} a quartic function with zeros —1 (multiplicity 2) and 5
(multiplicity 2), and y-intercept =-10

10. Determine three consecutive integers with a product of
-504.

11. A toothpaste box has square ends. The length of the box
is 12 cm greater than the width. The volume is 135 cm?.
What are the dimensions of the box?

12. The dimensions of a rectangular prism are
10 cm by 10 cm by 5 cm. When each dimension is
increased by the same length, the new volume is 1008
cm?®. What are the dimensions of the new prism?

Answers
1. a) Not a polynomial; the exponent of the variable is not a whole

Section 3.1 Extra Practice

1 -
number: —=x"' b) degree = 2 c) degree =6
X

d) Not a polynomial; the exponent of the variable is not a whole
1

number: ¥x =x3 2.a)-1;3 b)9;5 ¢)3;1 d)-2;9

3. a) odd; neither b) even; min c) odd; neither d) even; max

4. a) 3; domain: {x | x € R}; range: {y | y € R}

b) 2; domain: {x | x € R}; range:{y | y<9,y € R}

c) 4; domain: {x | x € R}; range: {y | y>-12.25,y € R}

d) 4; domain: {x | x € R}; range: {y | x € R}

5.a)0, 1, 2, or 3; y-intercept =3 b) 0, 1, 2, 3, or 4; y-intercept =5
€)0,1,2,3,or4; y-intercept=1 d) 0, 1, or 2; y-intercept =0

6. a) degree of 4, even-degree polynomial; opens downward,
extends down into quadrant Hll and down into quadrant |V;
maximum of four x-intercepts; has a maximum value; y-int=5

b) degree of 5, odd-degree polynomial; extends up into quadrant |
and down into quadrant {ll; maximum of 5 x-intercepts; no
maximum or minimum values; y-intercept = 12



7. a) extends up into quadrant Il and down into quadrant IV

b)3 c)36
d) A

8. a} quartic b) quintic c) cubic
d) quadratic

9.a) 2 b)—4.9; constant = 60;
The constant represents the
height the object fell from.

¢) The domain, t, must be
greater than or equal to zero,
because it represents time.

9 d) opens downward; lies only within g. i; points begin on the
y-axis and end on the x-axis; maximum value=60 10. 3.5s

Section 3.2 Extra Practice

x—-1

xt - 5 3
l.a)—————=(x+3)-—— b)xz4
x—4 x—-4

) x®-x—15=(x—4)(x+3)-3
d) To check, multiply the divisor by the quotient and add the
remainder.
x* =32 +2x* +55x-11
x+3
b) x # —3 ¢) To check, multiply the divisor by the quotient and
add the remainder.
3.a)3x+1 b) 2x* - 20x + 85 c¢) 2w? - 3w? + 4w - 10
4.a) 233 b)-7 c)36
5.a) 4w —5Sw?+3w—4 b)x*+4x* -5 ¢) 53 -5y + 7y -8
6.a)0 b) 179 c)45  7.a)-25 b) —44 c)-65
8.a)-22 b)0 ¢)831 9.2 10.4 and -2
Section 3.3 Extra Practice
La)x—6 b)x+7 c)Jx—-2 d)x+5
2.a) No b) No c) No d) Yes 3.a) No b) Yes c) No d) No
4.a) +1,£2, £3, +4, 46, £12 b) 1, +2, 43,16
c) £1, 45, £25 d} £1, £2, £5, £10
5. Example: Since the factors are x + 3, x — 4, and
x + 1, the corresponding zeros of the function are

-3, 4, and —1. The zeros can be confirmed by graphing P(x) and
using the trace or zero feature of a graphing calculator.

6.a) (x —1)(x — 2)(x+5) b) (x - 3)*x + 3)(x— 4)

c) (x+ 1)(x — 4)(x — 6) d) (x — 1)(x + 1L)}{x — 5)(x + 5)

7.a) (x+ 1)(x — 4)(x + 4} b) (x — 4)(x* + 2x + 2)

c) (k- 3}k +4)(k+5) d) (x—5){x*+5x—2)

8.a) (x +4)(x + 2)(x + 1){x — 3} b) (x+ 3){x + 2)(x + 1){x — 1){x -
2)

9.a) 2, -10 b) 28

2.a) =(x’ —6x* +20x—5) +

x+3

10.a) 3 b) -72
Section 3.4 Extra Practice
1.a)-5,-2,3,6 b)£3 ¢) ——%, 4,7 d)0,-2,-4 2.a)-3,2,-4

b) (-4, =3), (2, ©) ¢) (-, —-4), (-3, 2) 3.a)3 b) negative
c)-4,-2,-3;(x+4), (x+2), (x+3)

d) positive intervals: x < —4 and —3 < x < -2 negative interval: ~4 < x
<-3and x>-2

(-2,-8) | (-0.5,-8) | (-0.5, 16) (1.5, 11)
(=1, -1) | (-0.25,-1) | (-0.25,2) (-1.25, -3)
(0,0) (0, 0) (0,0) (-1,-5)
(1,1) | (0.25,1) | (0.25,-2) (-0.75,-7)
(2,8) | (05,8 | (0.5,-16) (-0.5,-21)

(-2, -16)| (-4,-16) | (-4,-4) (5, -1)
-1,1) | (-2,1) (=2, 0.25) (7,3.25)
{0, 0) (0,0) (0,0) (9,3)
(1,1) (2, 1) (2,0.25) (11, 3.25)
(2,16) | (4, 16) (4, 4) (13, 7)

6.a) 4 b) positive ¢) -6, -3, 1; {x+6), (x +3), {(x — 1)
d) positive intervals: (-, —6), (-6, —3), (1, =); negative interval:

(—31 1)

7.a) -4, -1, 1 b) 3; starts in quadrant Il and extends to quadrant |

¢) -4 d) positive intervals: {-4, -1),
(1, =); negative intervals

8.3) i

1z 14

20 !

; /

L (0,0) (5{0)
=10 61X
40 N i I
_49 5y=)’(x+‘l‘(x—5£)‘
R v

1(—oo, -4), (-1, 1)

b)

<)

9.a)y = 2(x - 3)2(x + 1)
b) y= —%(Hz)’(x—4)2

) f(x)= —%(x+ (- 5Y°

10.-9,-8,-7 11.3cmby3 cmby15cm
12.12cmby 12 cmby 7cm



RADICAL FUNCTIONS RE\hEW' S

2.1 Extra Practice

1. Graph each function using a table of values. Then,
identify the domain and range.

a) y=~x+2 b) y=vx -4 a) y=—vJx, y=—Jx-3+5 b) y=4Jx, y=4\/;
¢) y=+5-x d) y=+-3x+1
g ) y=—\/;,y=—ﬁ;

2. Explain how to transform the graph
7. Sketch the graph of each function using transformations.

6. Sketch each set of functions on the same graph.

of y= \/; to obtain the graph of each function.

State the domain and range in each case. a) y=2/x-4-5 b) y=-3J/x+6
a) y=3Jx-5 b) y=—Jx+7 ¢) y=—05x+1 d) y-9=2(x+3)
©) y=0250.25x =3 d) S+y=y~(x+]) 8. State the domain and range of each function.
3. Match each function with its graph. a) y=+J-x-4 b) y=4Jx-4
a) y=2Vx -1 b) y=-2x-1 Q) y—4==Jx-4 d) y=—/dx
) y=2 x—1 d) y=2 [‘—-'“_( x-1) 9. For each function, write an equation of a radical function of the
ATk B i form y=a.b(x-h) +k.
T > o a) (% L1 b) 179
“ 0 - A ‘K\ hd i T - -
2 N ~
i 081 T Y O I A <+
’ e -« - P -
6 . A -2 0 X o o x Dl A s »
Y Y N
7%
qa D7k ©) YA
) " M V] N ",_—————?
) e ¢ e A
NENENT G
B f 15 % Y
o b6 x Y . .
Y ’ ’ 10. Explain how to transform the graph of y = Jx to obtain the

. . ) . graph of each function.
4. Write the equation of a radical function that would

result by applying each set of transformations to the a) y=+-x-7 b)y=+2x-6+5 ¢)y-T=~5-x

aph of v = /v . - -
graph ot y =~x Section 2.2 Extra Practice
a) vert. exp by a factor of 3, and hor. comp. by a 1. Complete the table

factor of 2

b) horizontal reflection in the y-axis, translation up
3 units, and translation left 2 units

¢) vert. reflection in the x-axis, horizontal stretch
by a factor of l, and translation down 7 units -1

d) vertical exp. by a factor of 5, horizontal comp. 0
by a factor of 0.25, and translation right 6 1 1.4

5. Explain how to transform the graph of 2 ]

)=+/x to obtain th h of each function.
Y \/; © obtain the grapn ot each function 2. For each point given on the graph of y =f(x), does a

a) y=>5vx+7-2 b)) y=-4y-x+8 corresponding point on the graph of y =,/ f(x) exist? If so,

1 .
) y= [0.25(x — 1) d) y+3= fg(x +4) state the coordinates to the nearest hundredth.

a) (9,14) b)(p,r) ¢) (-2,7) d)(-32,-1)



2. What function(s) would you graph to help you solve each é
: _ radical equation?
3. For each function, graph y =/ f(x).

a) V5x> +11=x+5 b)x+3=+2x* -7

a) f(x)=x*=9b) f(X)=—x*+9 ¢) f(X)=x*+9
) VI3-4x" =2-x d)yx++2x"+9=3

4. a) Sketch the graph of f(x)=x+ 4.

b) State the domain and range of y = f(x). 3. Use each graph to solve the equation
¢) Sketch the graph of y =/ f(x). S =0.
A 4
d) State the domain and range of y =/ f(x). D LN m /
‘/I' /
= 0
5. For each function, graph y =./f(x) and state the -
domain and range of y =,/ f(x). \ /
a) fx)=x-4 b) fX)=x+9 c)f(x)=x-9 s a2 0 x
Y
6. Determine the domains and ranges of each pair of K
functions. Explain why the domains and ranges b) o ——7]
differ. o g P
a)y=x+5, y=+Jx+5 b)y=3x-9;y=+3x-9 < o
¢) y=—x-10, y=+—x-10 S e OV
7. Identify the domain and range of y =/ f(x). ©) 179
a)f(x)=x2-16 b) f(x)=x>+5 ¢) f(x)=2x>+18 T TR
8.Using the graph of y = f(x), sketch the graph of \\ 2 /
y=f(x). 7 - .
. B % i -4 i 2 0 X
yi=f¢x) Y
2 d) YA
-3.2) g
P > ) T
44 2 0 x T =il
2 i
4 12 e x

9. a) Sketch the graphs of y = x* + x — 20 and ) .
4. Solve each equation graphically.

=vx’+x-20. :
7 . \/"E-— a) V2x+1=3 b) Jx-3+6=2
b) Why is t.he graph of y=+/x"+x—-20 undefined o JAx<H =6 a2Vx—1-2-8
over an interval? '
10.a) Give examples.of pgints on the grapb ofy=f(x) 5. Solve. @) x—/x+2=0 b) Vx+4+8=x
that would be invariant when graphing y =/ f(x).
b) Give examples of points on of y = f(x) that would ) Vx-l1+3-x=0 d) x=vx+10+2

be undefined on the graph of y =/ f(x). 6.50lve to the nearest tenth.
, a) Jx-2=x-3 b) Vx+1+5=2x
Section 2.3 Extra Practice g xfrd=x g ¥ —d=2x-10
7. Tanya says that the equation V1 —x + 2 =0 has no solutions.
L.Solve each equation algebraically. : a) Show that Tanya is correct, using both a graphical and an

a) Vx+1+3=5 b)V4-3x =2 algebraic approach.

— b) Is it possible to tell that this equation has no solutions simply by
©) v 0.53x-2)+2=1 d) 3vx+2+4=1 examining the equation? Explain.
~crherizantal exp-:-by-a-facter-of-4; transtation-right- 1 unit—



8. The speed of a tsunami wave in the ocean is related to

the depth of the water by the equation s = 3\/;,
where s is the speed of the wave, in metres per second,
and d is the depth of the water, in metres. What is the
depth of the water, to the nearest metre, if the speed
of a tsunami wave is 10 m/s?

9. The radius, r, of a sphere is related to the surface area,

. 1 /4

A, by the equation r = —, |—.

2\«

a) The surface area of a baseball is about 172 cm?. Find
the radius of a baseball, to the nearest tenth of a
centimetre.

b) The radius of a tennis ball is about
3.3 cm. Find the surface area, to the nearest square
centimetre.

X+x-2=2
Chapter 2 Answers

10. Solve.

Section 2.1 Extra Practice
1.a) [ i '

b)i

domain: {x | x>-2,x € R}; domain: {x | x>0, x € R};
range: {y|y>-4,y € R}

:=\'/:)p'..‘|;y. . :

range: {y|y =0,y € R}

d)

1
domain: {x | x<5,xe€R domain: {x | ng’ x € R}

range:{y | y=>0,y € R} range:{y | y=0,y € R}

2. a) vertical exp. by a factor of 3, translation right 5 units;

~ domain:{x | x> 5, x € R};range: {y | y=0,y € R}

b) vertical reflection in the x-axis, translation up

7 units; domain: {x | x>0, x € R};range: {y|y<7,y €R}
c) vertical comp. by a factor of 0.25, horizontal comp. by a
factor of 4, translation down 3 units; domain: {x | x>0, x €
R}; range: {y | y>-3, yeR}

d) horizontal reflection in the y-axis, translation left 1,
translation down 5; domain: {x | x< -1, x € R}; range: {y | y
>-5,y € R}

3.a)D b)A ¢)C d)B

4.a)y=3J05x b)y=-(x+2)+3
A)y=-Bx-7 d)y=5J4(x-6)

5. a) vertical exp. by a factor of 5, translation down 2,
translation left 7

b) vertical exp. by a factor of 4, reflection in the x-axis,
reflection in the  y-axis, translation up 8.

¢) horizontal exp. by a factor of 4, translation right 1 unit

d) horizontal exp. by a factor of 3, translation down 3, translation left 4

6.a) [

by T A

: JVY

7

c)

b) [T T

8. a) domain: {x | x<0, x € R}; range:

{y|y=-4,y € R} b)domain: {x | x>4, x € R};range:{y | y20,y € R} ¢)

domain:{x | x> 4, xeR}; range:{y |y <4, yeR}
d) domain: {x | x>0, x € R};range: {y | y<0,y € R}

9.a)y=2vx-743 b)y=2y-(x-3) c}y=.0.5(x+5)

10. a) reflection in the y-axis, translation left 7 units

b} horizontal comp. by a factor of —;-, translation right 3 units, translation

up 5 units
¢) reflection in y-axis, translation right 5, translation up 7

Section 2.2 Extra Practice

1. x f(x) ’f(x) 2. a) (9, 3.74)
2 | 16 4 | (p )
-1 8 2.83 | ©)(-2,2.65)
01 4 5 d) No corresponding point
I | 196 14 exists.
2 1 1




7.a) domain: {x | x<-4andx>4,x € R}; range:{y | y=0,y € R} 8/
b) domain: {x | x € R}; range: {y | y> \/— y € R}
c) domain: {x | x € R}; range: {y | y> \/— y € R}
19-a)

Y

9b) Example: The graph of y = x* + x — 20 has y-values that are less than

zero for values of x between -5 and 4. Therefore, y =+/x* +x-20 is
undefined for this interval of x.

10. a) Example: all points that have a y-value of O or 1

b) Example: all points that have a negative y-value

™ d) domain:{x [x> -4, xeR}; Section 2.3 Extra Practice

range:{y |y20,y€R} 1.a)x=3 b)x=0 c)nosolution d)x=-1

2. Example: In each case, graph the single function and identify the x-
intercepts or graph the set of functions and identify the x-value of the
point of intersection.

a)y=+5x*+11-x-5 or J’f v5x2+11
b)y=+v2x*-7-x-3 or Y= V2x -

—x+

5 6,, ,l,.:._ _.;__;, , |
L )y =V13-4x* —2+x or ¥ =y13-4x’
domain: {x|x>4 xeR} range:{y | y=0,y € R} y=2-x
d)y=v-2x*+9+x-3 or y=3\)—2x2 +9
y=5-x

b) —

P P : L 3.a)x=4andx=-4 b)x=-9 cjx=2andx=-7d)x=-3
‘ 4.a) x=4 b) nosolution ¢)x=6 d) x=26

e ; i 5.a)x=2 b)x=12 ¢}x=5 d)x=6
6.a)x=4.6 b)x=3.6 ¢)x=-5.5 d} x=9.8

5. a) L

,,-A—w aB —-ﬁ -4

domain: {x|x>—9 X € R},range {yly>0 y € R}
c) ;

domain: {x | x=29, x € R}; range:{y | y=20,y € R}

algebraic approach:

6.a)y=x+5:domain: {x | x € R}, range:{y | y € R}; A—x+2=0

y =+/x+5 :domain: {x |{x 2-5, xR}, range: {y| y20,ye R} 1-x+2-2=0-2

b) y =3x - 9: domain: {x | x € R}, range: {y | y € R}; Vi-x =-2

y= m . domain: {x |x > 3, x€R), range: {y |y > 0, yeR} This result is not possible because a square root cannot equal a negative
value.

¢)y =—-x—10: domain: {x | x € R}, range: {y | y € R}; b) Example: Yes; isolate the radical. If it is equal to a negative value, then

y =+—x—10 : domain: {x |x <-10, xeR}, range:{y [y20, the equation has no solution.

yER} : 8.11m 9.a)3.7cm b)137cm? 10.x=3



